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2024 Fall Math 140 Week-In-Review
Week 2: Sections 2.1-2.2

Section 2.1: Review of Lines

Some Key Words and Terms: Point, Quadrant, Line, Linear, Slope, Vertical Line, Horizontal Line,
Slope-Intercept Form, Point-Slope Form, Standard Form
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1. The points (—6,2) and (—2,—1) form a line. Determine the following:

Examples:
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b) The equation of the line in Point Form. .
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(d) The graph of the line.

‘ 3_-2_3_-5._
T , -l-3="2-2= 2=)
' _-3x-%2 . -3
‘ W="g%"3 — 0=7x-2
6‘-/&
'\ 2 45
2
§;<’E‘X>“i
Z- a4 3
B=x
3
2
ndogd = Slepm IS
5 Lo 3w T T S
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(b) The corresponding change in the x-coordinate of the point if the y-coordinate decreases by
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Some Key Words and Terms: Linear Functions, Linear Depreciation, Rate of Depreciation, Scrap Value,
Cost, Variable Cost, Quantity, Fixed Cost, Revenue, Price, Profit, Supply, Demand
Linear Functions:

e hss s 3 [Limer Bopreciation (me=, vobit= o |
)/c:»&-al, ?vowm (st ('CVMA'H‘F'}'- X, COS+:"3/
7\ Rrenud CC)/AM“‘“}:X, reveau = ué)
Probit = Reveaue— Cost (qpantty=x, prod =
%WL} (_ﬂ/wmfﬂfy =X, price per r{-w =4
x w (W-]Hf?:xl (;rice, per tem =g,>

3

M B o ol o “"’“i"“&%ﬁw\oﬁz

Linear Depreciation: \[ L’k\ = WNM° _t + b
-HM,VG&ML n & o-(’%\u_,\r\—e,mct&*&l" '{TW&

et 8 Lot b g (s gl
S O [x-veavolade))

P S s W puthese price (,03\08 (frmu:sﬂm)
K "The depredicion et te || dollers porgqens X

Cost, Revenue, and Profit:
(o5t = (c.os-\' per ,~j.e,:r:1) (ﬁ/‘:':‘izj\e:‘: }{ u’:\ (_@:f 3{-:> Mo mk‘a»g)

((K=wm-Xx + = \
N N iy ° U\‘\';
Rgxmw: Cglg&“/g E\\CL WM&-‘T}&:MLW:L&K ‘am ¢ noe “}"‘\’\*W{/ﬂfﬂ’

. m
- t

Week 2 - 2.1 t0 2.2 Page 3



= CSLQ&\ price Qv o U’\S \’ (—W"\*;‘\-‘P\
Pro L4 = C\RQXU\ML:) w Y willd AS‘\"N\DM'{‘& ~(1M-ou_,¢d,\/\ ol

S —S:.wxc;h oL
¥ 0, R, 2 Pk i \lw«e,w positive Shopes B _

Supply and Demaris ° = ( )
L n ice Fom® SO =gl or D_(@,:;L
Aok, regresent” o grice pes ey =

e‘_t(_z -?u/\()“ﬂ\/\. [N PFJ_(Q{:M*\")QJ\

Hem 2 ne La—‘\/\:‘rtrb{;?‘i’

3*?!’"‘3/ N\ﬁ Auw.d,s owre aEecrhVL 50.!3[-‘9-/
Desmandh S o&*”“% howe o «%M':,

(7 wa 5()‘\ DCI‘\ IS“P[’LJ/ eﬁ/\n}«‘» DD.:/V\OW\OL we-
\/\a,vQ/ U Wkﬂ?\’ e_ﬂ gal:éﬂum

Week 2 - 2.1 t0 2.2 Page 4



Examples:

1. Before going to college, a student decides to invest in a scooter to get around campus. After
one _year, the scooter they purchased would still be worth $563.45. When the student graduates
assume 4 years after starting college), the scooter they purchased would still be worth $303.80.

\o The scooter uses special electronics that will always be worth at least $100. Let V() be a
—> linear function modeling the current value of the scooter, in dollars, after ¢ years. Determine the
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b. The purchase price of the scooter.
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c. The linear function, V' (), representing the value of the scooter after t years.
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2. A company produces a laptop/tablet combo targeted towards college students. When the company
produces 50 combos, they incur a total cost of $18,750 and when they produce 100 combos, they
incur a total cost of $25.200. Determine the linear cost function, C'(x), for the company when
they produce x laptop/tablet combos. + gwven
rey produce z laptop/tablet combos L7 CC") _ +FE Kwe were asT g
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3. When the company from the previous example sells 75 combos, they have a total revenue of

$18,675. Determine the linear revenue function, R(x), for the company when they sell x lap-
top/tablet combos.
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4. A company produces and sells Red-Eyes: a super-duper alarm clock for college students. The
total production cost for the company when they produce x Red-Eyes is given by the function
C'x) = 17r + 1,250. The total revenne for the company when they sell @ Red-Eves is given by
the function R({x) = 39.992. Determine the following:

a. The profit_function, P(x), for the company when they produce and sell x R(‘d‘E;Kf;"-
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b. How many Red-Eyes the company needs to sell in order to actually turn a profit.
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5. A company produces and sells a specialized fan designed to be used in dorm rooms called the
"Wind-Mate’. When the selling price of Wind-Mates is set at $20, the company4 will 4 supply
5,000 fans. If the selling price increases to $25. the company is willing to supply an additional
2,000 fans. Determine the linear price function for supplying @ Wind-Mates.
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G. A T-shirt supplier is planning to capitalize on the reintroduction of the Aggie/Longhorn game this
semester. According to their market research, if they set the price of t-shirts at $30 per t-shirt,
then consumers will demand 22,400 t-shirts. If they increase the price by $9 per t-shirt, then

consumers will only demand 19,900 t-shirts. Determine the linear price function for demanding
t-shirts.
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